
MODEL

CARTRIDGES
DOUBLE

C21E3

F.O.B. Northbrook, Illinois   Terms: Net 30 Days

PARTS LIST
P-7310F
SEPT. 2003

®

SUB-ADMIRAL
FILTRATION SYSTEMS

1 1

1 9

2 0

2 3

2 8

1 2

1 3

2 5

2 6

2 7

1 7

1 4 1 5

1 6

1 8 1 7

9

1 0

2 4

2 22 1

2

1

3

5

6

3

7

8

4

1 7

33-1660

44-0715 H
11-0137
55-0593
11-0279
11-0278
33-1688
44-6125 1
44-3244 1

Minimum order $25.00

1
2

3
4
5
6
7
8

9

10*

11
12
13

14

15
16

 17*

18
19
20

  21*
22

22A
23*
24*

25

26

27
28
29
30

44-7361
See Bulletin M-207

PRICE CODE NO.DESCRIPTIONITEM

44-6121 1
44-3245 1

Cap   - polyethylene
Motor and shaft assembly

1/8 H.P. 115/230/1/50-60
Hex nut, 8-32, 18-8   - stn.  steel (8 req'd)
Vapor seal (Mounts in mounting plate)
Flat washer, #8 size   - stn. steel (4 req'd)
Lockwasher, #8 size   - stn. steel (4 req'd)
Cap   - black polyethylene (4 req'd)
Column and suction casing - CPVC

- Polypropylene
Filter cartridge suction adapter - CPVC

- Polypropylene
Screw, 3/8-16 x 1-1/8"

 - polypropylene (3 req'd.)
Handle
Bolt, 3/8-16, 18-8    - stainless steel
Plug, 1/2" NPT - CPVC

- Polypropylene
3/4" 45°  Elbow - CPVC

- Polypropylene
Eductor, 3/4" NPT  - polypropylene
Impeller and sleeve assembly - CPVC

  - Polypropylene
"O"-ring (2 each required on Items 9 & 13)

- Ethylene propylene (standard)
- Viton®

Suction casing cover - CPVC
Twin filter cartridge adapter - CPVC
222 "O"-ring adapter - CPVC (optional)
Tri-pleated filter cartridge (not included)
Carbon mini-canister assembly 10"

20"
End cap assembly
Depth wound filter cartridge(not included)
Filter cartridge plug   - polyethylene
Suction extension, 12" long   - CPVC

  - Polypropylene
Reducer, 1½" x 1" NPT(optional)

- CPVC
- Polypropylene

Strainer, 1½" NPT   - polyethylene (optional)
"C" clamp   - fiberglass
Drip cover, optional (not shown)
"O"-ring - ethylene propylene

- Viton

11-2137
99-2043
11-0665
33-0866
33-0866 PP
33-0976
33-0976 PP

33-1733
44-6124 1
44-3240 1

22-0747
22-0748

SINGLE
C11E3

PP11E3
Refer to Bulletin F-506. Operation and Service
Guide O-470 and Master Price List F-800.

* Recommended spare parts.

PRICE CODE NO.
C11E3

PP11E3
C21E3

©

�2900 MacArthur Blvd.
Northbrook, IL 60062-2005 U.S.A.
e-mail: sales@serfilco.com

847-509-2900
800-323-5431

FAX: 847-559-1995
www.serfilco.com

WESTERN
310-532-0801

FAX: 310-532-0866

ES¾SCL-C1/8
ES¾SPP-C1/8
ES¾SPP-C1/8

—
—

44-6121
44-6121 2

99-2128
99-2128 1
99-2049

See Bulletin M-109
99-0645
33-1051
33-1051 PP

33-0181
33-0181 PP
99-0743 1
99-2044
44-7360
22-0338
11-0392

—
—

22A

30


